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NEW QUESTION 1
- (Topic 1)
Consider the typical objectives of testing. Which of the following metrics can be used to measure the effectiveness of the testing process in achieving one of those
objectives? 1 credit

A. Average number of days between defect discovery and resolution
B. Percentage of requirements covered
C. Lines of code written per developer per day
D. Percentage of test effort spent on regression testing

Answer: B

NEW QUESTION 2
- (Topic 2)
The introduction of reviews and inspections has often failed as a process improvement action. Identify the THREE most important measures that should be taken
to reduce the risk that this test process improvement will fail. 2 Credits (for 2 out of 3 correct 1 credit)

A. Process ownership and experienced moderators who drive the inspection process.
B. Management support
C. Training of those involved
D. The availability of stands and processes
E. Usage of a more traditional software development lifecycle
F. Alignment with software process improvement
G. Using a reference model, e.
H. TMMi

Answer: ABC

NEW QUESTION 3
- (Topic 2)
Identify the THREE types of formal peer reviews that can be recognized. 1 credit

A. Inspection
B. Management review
C. Walkthrough
D. Audit
E. Technical review
F. Informal review
G. Assessment

Answer: ACE

NEW QUESTION 4
- (Topic 2)
IEEE 1028 also defines “management review” as a type of review. What is the main purpose of a management review? 1 credit

A. Align technical concepts during the design phase
B. Establish a common understanding of requirements
C. Provide independent evaluation of compliance to processes, regulations, standards etc.
D. To monitor progress, assess the status of a project, and make decisions about future actions

Answer: D

NEW QUESTION 5
- (Topic 2)
Which of the following is an example of testing as part of the requirements specification phase? 1 credit

A. A requirements review meeting
B. A business analyst eliciting requirements
C. Performing acceptance tests against requirements
D. A test report showing requirements coverage

Answer: A

NEW QUESTION 6
- (Topic 3)
Select THREE issues from the options provided that should at least be raised. 1 credit

A. Has there been sufficient comparison of tools?
B. What are the problems we are trying to address?
C. Do we have a set of tool requirements to validate the tool against?
D. How will the implementation be organized?
E. Which project will be selected to perform the tool pilot?
F. Is customized training available?
G. How will the change process be managed?
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Answer: ABC

NEW QUESTION 7
- (Topic 4)
Which of the following is a characteristic of good testing in any life cycle model? 1 credit

A. Analysis and design of tests begins as soon as development is completed.
B. Some, but not all, development activities have corresponding test activities.
C. Each test level has test objectives specific to that level.
D. All document reviews involve the development team.

Answer: C

NEW QUESTION 8
- (Topic 4)
Which of the following are valid reasons for adopting a different life cycle (from the V model), for increments after the first year? 2 credits

A. We do not have a clear understanding of the requirements from a customer perspective.i
B. We see the risk of delivering requested functionality late as being higher than the risk of delivering a lower quality product.ii
C. We do not have a budget for additional regression testing which is needed to ensure that existing functionality is not compromised by future iterations.i
D. The company test strategy does not fit well within the V life cycle model.
E. (i) and (ii)
F. (i) and (iv)
G. (ii) and (iii)
H. (ii) and (iv)

Answer: A

NEW QUESTION 9
- (Topic 5)
Part of the testing strategy indicates that you are going to be using systematic test design techniques. Your manager has asked that you present the main
advantages of using these techniques at the next board meeting. Identify THREE main benefits of using systematic test design techniques within this company. 2
credits (for 2 out of 3 correct 1 credit)

A. Easier to quickly adapt testing to changing requirements compared to experienced- based testing
B. Targets certain types of faults
C. Will guide experienced testers to find defects
D. Provides a way to differentiate depth of testing based on product risks by using different techniques
E. More enhanced documentation and therefore higher repeatability and reproducibility
F. Will make non-systematic testing redundant
G. Will reduce the need for early reviews

Answer: BDE

NEW QUESTION 10
- (Topic 7)
In general, why is it NOT a good idea to estimate the testing effort based only on a percentage of development effort? Identify THREE valid reasons. 1 credit

A. The quality of the development estimate may be poor.
B. In general bottom-up estimation is always better than top-down estimation.
C. The percentage based technique only applies to the V life cycle model.
D. Using the same percentage every time does not address the level of risk of the application to be tested.
E. The maturity of the organization, e.
F. the quality of the test basis, quality of development testing, configuration management, availability of test tools, also influence the effort neededfor testing.
G. It builds on large set of historical data
H. The result is almost always a too low estimate for the required test effort

Answer: ADE

NEW QUESTION 10
- (Topic 8)
During test process improvement it is recommended to use standards where possible. Standards originate from various sources and they cover different subjects
in relation to testing Pick TWO sources of software standards, useful to software testing from the ones mentioned below. 1 credit

A. ISO 9126-1 ‘Software engineering- Product quality Part 1:Quality model’ is an international standard, that provides a basis on which to define quality assurance
solutions.
B. ISA 4126-1 ‘Software engineering- Product quality Part 1:Quality model’ is an international standard, that provides a basis on which to define quality assurance
solutions.
C. BS-7925-2 ‘Software testin
D. Software component testing is a national standard used internationall
E. It covers a number of testing techniques that may be useful both on component testing level and on system testing level.
F. SY-395-01 ‘Standard for East Coast Hospital software’ is a regional standard adapted from a national on
G. Besides hospital software, this standard ought to be used also by other types of software system in the region.
H. IEEE 829 ‘standard for software test documentation’ is an international standard to be following mandatory by all testing origination regardless of lifecycle
models.

Answer: AC

The Leader of IT Certification visit - https://www.certleader.com



100% Valid and Newest Version CTFL-001 Questions & Answers shared by Certleader
https://www.certleader.com/CTFL-001-dumps.html (65 Q&As)

NEW QUESTION 11
- (Topic 9)
Within the projects, a master test plan and phase test plan will be used. Following is a list of characteristics applicable for test plans:

A. Any deviation from the procedures described in the test strategy document
B. The overall estimated costs, timescales and resource requirements
C. A detailed schedule of testing activities
D. The development deliverables to be tested
E. Which test staff members (names) will be involved and when
F. Level of requirements coverage achievedWhich THREE of the above mentioned characteristics relate to the master test plan? 1 credit
G. a
H. b
I. c
J. d
K. e
L. f

Answer: ABD

NEW QUESTION 15
- (Topic 10)
Why might a RAD approach be a better option for the test manager rather than a sequential development? 2 credits

A. It will extend the development team’s abilities and enhance future delivery capabilities.
B. It will allow the marketing, clerical and testing staff to validate and verify the early screen prototypes.
C. Time-box constraints will guarantee code releases are delivered on schedule.
D. More time can be spent on test execution as less formal documentation is required.

Answer: B

NEW QUESTION 19
- (Topic 12)
Which of the following is the odd one out..?

A. White box
B. Glass box
C. Structural
D. Functional

Answer: D

NEW QUESTION 21
- (Topic 12)
Which one of the following roles is typically used in a review?

A. Champion.
B. Author.
C. Project sponsor.
D. Custodian.

Answer: B

Explanation: 
The Author is the only role that is typically used in a review.
A Champion might sponsor the review process but is not a defined role within an actual review; a Project Sponsor, if technically competent, might be asked to play
a defined role within the review process, but whilst using that role they will not be a Project Sponsor; finally, a Custodian might ensure the results are stored safely
but would not be involved in the actual review itself.

NEW QUESTION 22
- (Topic 12)
Test Implementation and execution has which of the following major tasks?

A. Developing and prioritizing test cases, creating test data, writing test procedures and optionally preparing the test harnesses and writing automated test scripts.i
B. Creating the test suite from the test cases for efficient test execution.ii
C. Verifying that the test environment has been set up correctly.i
D. Determining the exit criteria.
E. i,ii,iii are true and iv is false
F. i,iv are true and ii is false
G. i,ii are true and iii,iv are false
H. ii,iii,iv are true and i is false

Answer: A

NEW QUESTION 24
- (Topic 12)
Which of the following are the typical defects found by static analysis tools?

A. Variables that are never used.
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B. Security vulnerabilities.
C. Poor performance.
D. Unreachable code.
E. Business processes not followed.
F. b, c and d are true; a and e are false
G. a is true; b, c, d and e are false
H. c, d and e are true; a and b are false
I. a, b and d are true; c and e are false

Answer: D

NEW QUESTION 25
- (Topic 12)
What should be the MAIN objective during development testing?

A. To cause as many failures as possible so that defects in the software are identified and can be fixed
B. To confirm that the system works as expected and that requirements have been met
C. To assess the quality of the software with no intention of fixing defects
D. To give information to stakeholders of the risk of releasing the system at a given time

Answer: A

NEW QUESTION 26
- (Topic 12)
What is retesting?

A. Running the same test again in the same circumstances to reproduce the problem.
B. A cursory run through a test pack to see if any new errors have been introduced.
C. Checking that the predetermined exit criteria for the test phase have been met.
D. Running a previously failed test against new software/data/documents to see if the problem is solved.

Answer: D

NEW QUESTION 28
- (Topic 12)
Which of the following is MOST important in the selection of a test approach?

A. Availability of tools to support the proposed techniques.
B. The budget allowed for training in proposed techniques.
C. Available skills and experience in the proposed techniques.
D. The willingness of the test team to learn new techniques.

Answer: C

NEW QUESTION 33
- (Topic 12)
Which statement is most true?

A. Different testing is needed depending upon the application.
B. All software is tested in the same way.
C. A technique that finds defects will always find defects.
D. A technique that has found no defects is not useful.

Answer: A

Explanation: 
This is a restatement of the testing principle ‘Testing is context dependent’

NEW QUESTION 38
- (Topic 12)
Which statement below BEST describes non-functional testing?

A. The process of testing an integrated system to verify that it meets specified requirements.
B. The process of testing to determine the compliance of a system to coding standards.
C. Testing without reference to the internal structure of a system.
D. Testing system attributes, such as usability, reliability or maintainability.

Answer: A

NEW QUESTION 39
- (Topic 12)
Which of the following is usually the test basis for integration testing?

A. Program specification
B. Functional specification
C. Technical specification
D. Requirement specification
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Answer: C

Explanation: 
Option (A) is used for unit testing. Option (B) is used for system testing and
Option (D) is used for acceptance testing.

NEW QUESTION 40
- (Topic 12)
Faults found by users are due to..?

A. Poor quality software
B. Poor software and poor testing
C. Bad luck
D. Insufficient time for testing

Answer: B

NEW QUESTION 43
- (Topic 12)
One Key reason why developers have difficulty testing their own work is:

A. Lack of technical documentation
B. Lack of test tools on the market for developers
C. Lack of training
D. Lack of Objectivity

Answer: C

NEW QUESTION 47
- (Topic 12)
Which list of levels of tester independence is in the correct order, starting with the most independent first?

A. Tests designed by the author; tests designed by another member of the development team; tests designed by someone from a different company.
B. Tests designed by someone from a different department within the company; tests designed by the author; tests designed by someone from a different
company.
C. Tests designed by someone from a different company; tests designed by someone from a different department within the company; tests designed by another
member of the development team.
D. Tests designed by someone from a different department within the company; tests designed by someone from a different company; tests designed by the
author.

Answer: C

Explanation: 
This option has someone nearer to the written code in each statement. All other options are not in this order.

NEW QUESTION 51
- (Topic 12)
A deviation from the specified or expected behavior that is visible to end-users is called:

A. an error
B. a fault
C. a failure
D. a defect

Answer: C

NEW QUESTION 56
- (Topic 12)
Which is not a major task of test implementation and execution?

A. Develop and prioritizing test cases, creating test data, writing test procedures and optionally, preparing test harness and writing automated test scripts.
B. Logging the outcome of test execution and recording the identities and versions of the software under test, test tools and testware.
C. Checking test logs against the exit criteria specified in test planning.
D. Verifying that the test environment has been set up correctly.

Answer: C

NEW QUESTION 59
- (Topic 12)
Which of the following pairs of test tools are likely to be most useful during the test analysis and design stage of the fundamental test process?
(i) Test execution tool
(ii) Test data preparation tool
(iii) Test management tool
(iv) Requirements management tool

A. (i) and (ii)
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B. (i) and (iv)
C. (ii) and (iii)
D. (iii) and (iv)

Answer: D

NEW QUESTION 60
- (Topic 12)
Relying only on the information provided in the scenario, select the TWO items and/or features for which sufficient information is available to proceed with test
design. 2 credits

A. All supported credit cards
B. Language localization
C. Valid and invalid advances
D. Usability
E. Response time

Answer: AC

NEW QUESTION 65
- (Topic 12)
Which of the following statements about risks is most accurate?

A. Project risks rarely affect product risk.
B. Product risks rarely affect project risk.
C. A risk-based approach is more likely to be used to mitigate product rather than project risks.
D. A risk-based approach is more likely to be used to mitigate project rather than product risks.

Answer: C

Explanation: 
In general, project risk and product risk can be hard to differentiate. Anything that impacts on the quality of the delivered system is likely to lead to delays or
increased costs as the problem is tackled. Anything causing delays to the project is likely to threaten the delivered system'squality. The risk-based approach is an
approach to managing product risk through testing, so it impacts most directly on product risk.

NEW QUESTION 68
- (Topic 12)
Which of the following comparisons of component testing and system testing are TRUE?

A. Component testing verifies the functioning of software modules, program objects, and classes that are separately testable, whereas system testing verifies
interfaces between components and interactions with different parts of the system.
B. Test cases for component testing are usually derived from component specifications, design specifications, or data models, whereas test cases for system
testing are usually derived from requirement specifications, functional specifications or use cases.
C. Component testing focuses on functional characteristics, whereas system testing focuses on functional and non-functional characteristics.
D. Component testing is the responsibility of the technical testers, whereas system testing typically is the responsibility of the users of the system.

Answer: B

NEW QUESTION 72
- (Topic 12)
Consider the following pseudo code:
1 Begin
2 Read Time
3 If Time < 12 Then
4 Print(Time, "am")
5 Endif
6 If Time > 12 Then
7 Print(Time 12, "pm")
8 Endif
9 If Time = 12 Then
10 Print (Time, "noon") 11 Endif
12 End
How many test cases are needed to achieve 100 per cent decision coverage?

A. 1
B. 2
C. 3
D. 4

Answer: C

Explanation: 
The three decisions are in sequence and the conditions are all mutually exclusive (if any one is true the others must be false). Hence a test case that makes the
first decision true will make the second and third decisions false and so on.
So test case 1 (say Time = 6) would exercise the path True, False, False, test case 2 (say Time = 15) would exercise the path False, True, False. Test case 3
would have to be Time
= 12. This combination achieves 100 per cent decision coverage because each decision has been exercised through its true and its false outcomes.
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NEW QUESTION 77
- (Topic 12)
During the software development process, at what point can the test process start?

A. When the code is complete.
B. When the design is complete.
C. When the software requirements have been approved.
D. When the first code module is ready for unit testing

Answer: C

NEW QUESTION 78
- (Topic 12)
An input field takes the year of birth between 1900 and 2004. The boundary values for testing this field are:

A. 0,1900,2004,2005
B. 1900, 2004
C. 1899,1900,2004,2005
D. 1899, 1900, 1901,2003,2004,2005

Answer: C

NEW QUESTION 80
- (Topic 12)
A system is designed to accept values of examination marks as follows:
Fail:0–39 inclusive Pass:40–59 inclusive Merit:60–79 inclusive Distinction:80–100 inclusive
In which of the following sets of values are all values in different equivalence partitions?

A. 25, 40, 60, 75
B. 0, 45, 79, 87
C. 35, 40, 59, 69
D. 25, 39, 60, 81

Answer: B

NEW QUESTION 85
- (Topic 12)
Which of the following statements is the MOST valid goal for a test team?

A. Determine whether enough component testing was executed.
B. Cause as many failures as possible so that faults can be identified and corrected.
C. Prove that all faults are identified.
D. Prove that any remaining faults will not cause any failures.

Answer: B

NEW QUESTION 89
- (Topic 12)
Which of the followingcould be a reason for a failure?
1) Testing fault
2) Software fault
3) Design fault
4) Environment Fault
5) Documentation Fault

A. 2 is a valid reason; 1,3,4 & 5 are not
B. 1,2,3,4 are valid reasons; 5 is not
C. 1,2,3 are valid reasons; 4 & 5 are not
D. All of them are valid reasons for failure

Answer: A

NEW QUESTION 90
- (Topic 12)
Which of the following is a benefit of test independence?

A. It does not require familiarity with the code.
B. It is cheaper than using developers to test their own code.
C. It avoids author bias in defining effective tests.
D. Testers are better at finding defects than developers.

Answer: C

NEW QUESTION 95
- (Topic 12)
Which of the following is NOT part of configuration management..?
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A. Status accounting of configuration items
B. Auditing conformance to ISO9001
C. Identification of test versions
D. Record of changes to documentation over time
E. Controlled library access

Answer: B

NEW QUESTION 100
- (Topic 12)
Tools like change Man, Clear case are used as..?

A. functional automation tools
B. performance testing tools
C. configuration management tools
D. none of the above

Answer: C

NEW QUESTION 104
- (Topic 12)
Statement Coverage will not check for the following:

A. Missing Statements
B. Unused Branches
C. Dead Code
D. Unused Statement

Answer: A

NEW QUESTION 108
- (Topic 12)
Which of the following is most likely to be a benefit of using static techniques?

A. Fewer performance defects.
B. Productivity improvements in the development process.
C. More efficient regression testing.
D. Quick return on investment in static analysis tools.

Answer: B

Explanation: 
Although the other options might be seen as benefits they are not amongst the most likely benefits. Option (B) is the benefit that is most likely to be realized.

NEW QUESTION 113
- (Topic 12)
The following statements relate to activities that are part of the fundamental test process.

A. Evaluating the testability of requirements.i
B. Repeating testing activities after changes.ii
C. Designing the test environment set-up.i
D. Developing and prioritizing test cases.
E. Verifying the environment is set up correctl
F. Which statement below is TRUE?
G. (i) and (ii) are part of analysis and design, (iii), (iv) and (v) are part of test implementation and execution.
H. (i) and (iii) are part of analysis and design, (ii), (iv) and (v) are part of test implementation and execution.
I. (i) and (v) are part of analysis and design, (ii), (iii) and (iv) are part of test implementation and execution.
J. (i) and (iv) are part of analysis and design, (ii), (iii) and (v) are part of test implementation and execution.

Answer: B

Explanation: 
All other answers contain an activity identified as analysis and design that is part of implementation and test execution.

NEW QUESTION 117
- (Topic 12)
Given the Following programIF X <>= ZTHEN Statement 2;ENDMcCabe’s Cyclomatic Complexity is :

A. 2
B. 3
C. 4
D. 5

Answer: B

NEW QUESTION 118
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- (Topic 12)
Which of the following statements describes a key principle of software testing?

A. Automated tests allow better statements of confidence about the quality of software products.
B. For a software system, it is normally impossible to test all the input and output combinations.
C. Exhaustive software testing is, with enough effort and tool support, feasible for all software.
D. The purpose of software testing is demonstrating the absence of defects in software products.

Answer: B

NEW QUESTION 121
- (Topic 12)
According to the ISTQB Glossary, regression testing is required for what purpose?

A. To verify the success of corrective actions.
B. To prevent a task from being incorrectly considered completed.
C. To ensure that defects have not been introduced by a modification.
D. To motivate better unit testing by the programmers.

Answer: C

NEW QUESTION 122
- (Topic 12)
Which of the following defects is most likely to be found by a test harness?

A. Variance from programming standards.
B. A defect in middleware.
C. Memory leaks.
D. Regression defects.

Answer: B

Explanation: 
Variance from programming standards defects (option (A)) are found during the review or static testing process. Therefore a test harness is unlikely to find a defect
in programming standards.
Memory leak defects (option (C)) could potentially be found by a test harness designed to run many test cases.
Regression defects (option (D)) could be found using many types of test tool.
Defects in middleware (option (B)) are generally more likely to be found by a test harness or a dynamic analysis tool than by any other type of tool.

NEW QUESTION 123
- (Topic 12)
Which of the following is not decided in the test-planning phase..?

A. Schedules and deliverables
B. Hardware and software
C. Entry and exit criteria
D. Types of test cases

Answer: D

NEW QUESTION 125
- (Topic 12)
Important consequences of the impossibility of complete testing are ..?

A. We can never be certain that the program is bug free
B. We have no definite stopping point for testing, which makes it easier for some managers to argue for very little testing
C. We have no easy answer for what testing tasks should always be required, because every task takes time that could be spent on other high importance tasks
D. All of the above

Answer: D

NEW QUESTION 129
- (Topic 12)
A new system is about to be developed. Which of the following functions has the highest level of risk?

A. Likelihood of failure = 20%; impact value = £100,000
B. Likelihood of failure = 10%; impact value = £150,000
C. Likelihood of failure = 1%; impact value = £500,000
D. Likelihood of failure = 2%; impact value = £200,000

Answer: A

Explanation: 
In (B) the product of probability × impact has the value £15,000; in (C) the value is £5,000 and in (D) it is £4,000. The value of £20,000 in (A) is therefore the
highest.

NEW QUESTION 131
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- (Topic 12)
Hand over of Testware is a part of which Phase:

A. Test Analysis and Design
B. Test Planning and control
C. Test Closure Activities
D. Evaluating exit criteria and reporting

Answer: C

NEW QUESTION 134
- (Topic 12)
A bug or defect is:

A. A mistake made by a person;
B. A run-time problem experienced by a user;
C. The result of an error or mistake;
D. The result of a failure, which may lead to an error?

Answer: C

NEW QUESTION 139
- (Topic 12)
Which is not in sequence in 11 Step Software Testing process..?

A. Assess development plan and status
B. Develop the test plan
C. Test software design
D. Test software requirement

Answer: C

NEW QUESTION 141
- (Topic 12)
Fault Masking is:

A. Error condition hiding another error condition
B. Creating a test case which does not reveal a fault
C. Masking a fault by developer
D. Masking a fault by a tester

Answer: A

NEW QUESTION 144
- (Topic 12)
Which of the following statements are TRUE? A. Regression testing and acceptance testing are the same. B. Regression tests show if all defects have been
resolved. C. Regression tests are typically well-suited for test automation. D. Regression tests are performed to find out if code changes have introduced or
uncovered defects. E. Regression tests should be performed in integration testing.

A. A, C and D and E are true; B is false.
B. A, C and E are true; B and D are false.
C. C and D are true; A, B and E are false.
D. B and E are true; A, C and D are false.

Answer: C

NEW QUESTION 146
- (Topic 12)
Tests are prioritized so that:

A. You shorten the time required for testing
B. You do the best testing in the time available
C. You do more effective testing
D. You find more faults

Answer: B

NEW QUESTION 151
......
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